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Allow 21 hours 20 minutes
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4 1@ 50 x 30 Acceptany correct method e.g.
N ‘watch for wrong method

1304 0rg) Mifor2==2 50x 20 = 1000.

) N 1000+2 =500
M1forZ x50 0r 50/3

2x250=500 M1 for 2 x30=500 Mark to candidates advantage
Alternative method
M1for30+6 =5
M1for their (30+6)x2
M1 for 50 x 10= 500

® | |2

Wrtor 0o 0, 750
25020 015

M1 for their 10 x 5.5(0] or their 25 x 2[.00] or their

50 x 3.9[0]

M1 for their 10 x 5.5[0] + their 25 x 2[.00] + their 50
x3.900]

Mifor 396 o 396 their 300

—Z o
their 300 their 300
Alternative method

B 2o

= "

M1 for
9
S0

or

or

M1 for 5.5[0] x their [0].2 or 2[.00] x their [0].5 or
3.9(0] x their 1

M1 for their (5.5[0] x [0].2) + their (2[.00] x.[0]5) +
their (3.9[0] x 1)
29 . 792-theire

M1 for—22 o

Theirs theirs,

M1 may be implied by 10 or 25
(no. of bags/part bags of cemert, sand, stone)
M2 may be implied by 55 and 195
(cost of cement, sand, stone)

M3 may be implied by 300 or 6 nfuw
(total production cost)

M1 may be implied by 0.2, 0.5 or 1 or 7.92
(no. of bags/part bags of cement, sand, stone or
price of 1 bag)

M2 may be implied by 1.1(0], 1.00] or 3.9(0]
(cost of cement, sand, stone for 1 bag)

M3 may be implied by 6 nfuw
(total production costof 1bag)
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21
50

M1 for two ratios with a common number of
sherberts e.g. 14:21 or 21: 15 or 50
and

their 21
Thetr (14+21+15)

create atriple ratio eg 0 for

M1 for only after valid attempt to

347
frevery

etc

allow any correct method

Alternative :

M1 for 7 + 3implied by 2.3[3...] oe or better
and

M1 for 5 +2.3(3...] oe implied by 2.1428
(exact= %) or2x2.3[3.]oe

ande.g.2:3: their’s (=14:21: 15) or their

1
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2700

B3 for Emma’s amount =4500 or 4050 or
old total = 7200 or newtotal = 6750
or M2 for 6k : 10k and 6k : 9k seen where k

is a positive integer or for ; H% oe seen

or for correct unsimplified equation to find
Emma or Sundip o the total amount

or M1 for 6k : 10k or 6k Sk seen where kis
apositive integer or for > o2 or or > or 2
32 8 8 5

or%oe seen or used

M2 implied by %
E 2
5

original share

(£-450) where E is Emma’s

For M1 accept decimal versions of
fractions
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20

2 | condone 1:20 for 2 marks
B1 for [50 ] 1000 0e or 22" ignoring units
or answer with units e.q. 20g, 1g : 20g
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~or equivalent fracti M2 x= oe implied by 01.139,
350" eauivalent raction o 55 ©¢ mplied by e, 01139,
011388..., 13.9%, 1388.%, 2%, este) 17 27
better "
OR
B for ‘—i\x equivalent fraction or 0.416 or better
OR
11 .
M1 for ﬁar y:“): Tor ¥ x5 oe, implied
by 1.6, 1.66[6...], 1.67 or 1.7 or better
3 ® 3000 W Tor 1600 = 8 or (5+7+8) = & implied by 200 or 25
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any correct method e.g. two of

yxx =16 x4 =12, 3x4/16 =12, 2x 4/36= 12 0e

or

12

use one pair to find and check with another

pair

accept 6 for 36 etc
M1 for correct method with one error or omission or

uses y =% tofind k= 12 or one of [y xx =] 6 x4 =
12,3 x416=12, 2x 36=12

alternative method : show xis x 4 and x 9 and y is + 2
and +3.

‘condone answer of a e =7 for 2 marks or

x

M1 for a=—oe implied by 3.75 =

B1 for [k=] 60
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10 6:15:20 P1 | chooses a multiplier to equate the two fractions in terms of b
e Zud=yor 3.2
5 3 15 4 5
N . . 2 6 2 4 6
or lists equivalent fractions to = up to at least —, eg. =, —,
e 5 P A 5 10 15
or lists equivalent fractions to 2 up to at least 1>, eg. 3, 8, 2 12 15
4 20 4
or(a:b=)2:5and (b:c=)3:4
or for 6: 15 or 15 : 20 seen
PL | puts into related terms ready for ratio cg 2 x> = & and 2, 5= 15 Need not be written in ratio form
5 20
orfor(a:b=)6:15and (b:c=)15:20
or lists equivalent ratios up to a common element for b,
ega:b=2:54:10,6:15andb:c=3:4,6:8,9:12,12:16,15:20
Al for 6:15:20 oe

Accept equivalent ratios
Accepta=6,b=15and c =20
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B2for6.50r s% oe
. For M1 accept attempted repeated
or Mt for e (106-80) 5 subtraction from 106 to 80 or from 26 to 0
4 or repeated addition of 4 from 80 to 106 or
from 0 to 26 condone 1 error
At least 4 correct additions or subtractions
needed soi FT one error

©.g. smaller, less, days would be shorter,
would decrease,

ignore reference to numbers of days if
lower

®) Fewer days oe T
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(a)

a correct distance conversion e.g.
400 + 1000 or [0].4 or 5 x 1000 or
5000

a scale factor e.g. 5[000] + 400 soi
figs 125 or 840 + 66 S0i 12.727.... or
12.73 or figs 127

correct time conversion e.g. 14 x 60
or 840 or 66 + 60 or 1(m] 6[s] or 1.1
or 825 + 60

correct figures e.g.

13.75 0r 137 or 13.8 [14]
5.09...0r5.1 5]
5090 ...] or 5100 5000
825 840
125 127...
5950159016 6.06... or
6.1

M1

w1

]

A1

‘accept any correct method

Dep on M3

(b)

‘an acceptable response e.g.
{he will not maintain this rate
because] he will get tired

"Accept any correct reason must not
be contradicted.
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‘accept any correct method e.g.

B1

w1
w1

w1
w1

A1

Could be table or the correct
probability notation e.g
P(RAM) = P(RIM) x P(M)

Correct method to find the probability
that a male is right-handed

Correct method to find the probability
that a female is right-handed

Must be two figures which can be
compared

If they use a table see appendix
based on 100

Award

B3 for all red elements in table
correct, B2 for 3 or 4 correct, B1 for
2 correct

M1 for Prop.( F) = 25+33.333 or
0.75

M1 for Prop.(M) = 40+66.666 or 0.6
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No and she can only get 12[.5] strips
nfww

or
Noand]l%mp 30] 0e nfww

B3for12.50r ?Mm llém
or B2 for Zkgmmn

1
or 1-oe
5

150 12
150,12 50
55

orfor 30 x> 00 or
12

or M1 for m:z%uwuxz%u

Amount of material used for 12 strips
Amount left over from 12 strips.

For M1 accept attempt for repeated
addition of 2% oe to make 30 (at least 3

repeats)
condone 1 error in the addition
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©2 nfww

B3 for 15 [shaded] and 10 [unshaded]
or M2 for 52— 4 oe or 42— 1 oe
or M1 for 42or 5% oe seen
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M3 for 1025 + (5k + 15k + 21k) x
15k oe

or
M2 for 1025 + (5k + 15k + 21K) oe
or

M1 for two ratios with a common
number of cashews implied by 5k

(almonds) and 21k (peanuts) seen,

k0
orfor5:15[: 21] or [5:15: 21 or
41seen

M3 implied by 125, 375, 525 with 375 not
selected
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B1 for [2:] 500
1f 0 scored SC1 for answer of figs 25

Ignore any units seen

()

4500

[x5] soi by 900
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‘accept any correct method e.g.
Bifor 1.15

M1 for y = k(1.15 x x)?

M1 for (1162 -1) [x 100] or [0].3225
OR

B2 for 1.15” or 1.3225 or B for 1.15

M1 for (1,152 -1) [x 100] or [0]:3225

If 0 scored award B1 for y = kx

accept if k replace by a numerical
value
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or “600° = 6 (= 100) or “600” = 20 (= 30)
for *1200” + 6 (= 200) or “1800”

or *100° * 2 (= 200) or 30” x 3 (=

for 907 + (200" + “90) x 100 (= 31.0...) oc
or “90” = (200” + “90”) (= 0.31...)
or 0.3 % (*200” + “90°) (= 87)oe

correct conclusion and fully correct calculations with accurate figure
g No and 87 or No and 31% or No and 0.31

Full method to compare

No working, answer only no marks
No may be implied by a statement
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® Correct comment “Any statement tha implies the assumption | &.g. Speed stays the same

that the rate of petrol consumption
remains constant

Same type of roads
The car uses fuel at the same rate
Does not get stuck in traffic
Weather stays the same

See AG
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3 nfww

Bd for 4r° =108 or better
or B3 for ”h =108

or M3 for 7x22x9= %xr’dloo

2
orfor 7x2°x9= 1z(ﬂ] hoe
3714

orB2for 36x
or M1 for 7x2° x9 or better

or B for dror % seen

‘nfww - must check method before giving
5 marks must not come from wrong
working

Condone use of other letter for r (or h)
eg.x

For method marks allow use of 3.14,
314201227 for =
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B1 for [green] 36
or
ratio(s) equivalent to 5 : 9 : 36

AND

M2for 9 (400
mm‘:(5+9+35)[
or

M1 for their (5 + 9 + 36) soi

For B1 accept 5: 36 or 9: 36

or

ratio(s) involving a common term for blue

eg10:18and 18:72

eg1:18:72

eg 3:1[4)
9

(decimals should be accurate rot to 3 figs)

Their (5 + 9 + 36) must come from a ratio (or
ratios) with a common term.

1+4+5+9=19 followed by %soovesl)
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14 [(a)

21.45 x 4663 + 100000 = 1.0002[1..]
(km)

or

21.45 x 4663 =
100020 to 100021.4 > 100000 (cm)

or.
100 000 + 21.45 = 4662[.0..] < 4663
or

100 000 + 4663 = 21.44[5.] < 21.45

Note the first method does not require a
comparison against 1 (km)

B1 for (minimum length =) 21.45
seen

B1 for 1 km =100 000 cm soi
oe such as + 100 then + 1000
or use of

m = 100cm and 1km = 1000m if
working in metres.

M1 for

their 21.45 x 4663 (+ 100 000)
or

100 000 + their 21.45

or

100 000 + 4663

1f MO scored, allow SC1 for
kx 4663 (+ 100 000)

or

100000 + k

with k in the range 10.25 0 10.35 o
6.4510 6.55

Allow access to all marks if brick and 1km
are in consistent units.

Allow these conversions even with their
Volume or surface area.
eg21.5x 10.3 x 6.5 = 1439.425
cm/em?/em® = 0.014394 25km

their 21.45 must be in the range 21.45 to
21.55 but accept equivalent i attempting the
unit conversion first

eg BOBOM1 for 21.5 cm = 0.0215km
followed by 0.0215 x 4663

Thus, use of width or height of the brick may
score BO,B1,SC1 whereas use of volume
may score BO/4,B1,SC0

Accept equivalent if working in m or km

(b)

7017 to 7020

B1 for 20000 or 2.849[..] or2.85
or 0.0028...] seen

M1 for their 20 000 + their 2.85 or
20 + their 0.00285

Tgnore other bound

ie a division after an attempt to reach
consistent units

their 2.85 must be in the range 2.75 to 2.85
inc.; their 0.00285 must be in the range
0.00275 to 0.00285.

BOMO for 20 + 2.8 as no attempt to reach
consistent units
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(ii) | The truck may not have enough room 1 Mark their best reason.
0 for we do not know the exact weight of the

oe
Safety regulations may ot allow it bricks oe
0 for because the truck may need to carry

other loads
0 there may not be enough bricks available
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93+30r310r100+30r333. or
55+ 1.55 or 3300 + 93 or 35.5 or
35.48... or 55+ 93 or 0.6 or 0.59...

their31 x 100 or 3100 or their33.3.
x93 or their35.5 x 3

their3100 + 60 soi by 51.6(6..] or
51.7 or 52 or 51[min] 40[sec] or 55 x
60'Soi 3300 or 106[5] or 106.45...

106.45 or 106[.5] > 100 or
51.6[6....0r 51.7 or 52 or 51[min]
40jsec] <55 or

31{00] < 33(00] or

So he can swim that distance

‘accept any correct method

Conclusion or comparison of correct
values required

e.g. 106.45 lengths in 55 mins

(b)

he swims at the same rate

‘accept any correct statement e.g. he
does not slow down, no breaks

See appendices

©

'he will get tired/he will slow down/not
take breaks

‘acceptany correct statement

See appendices
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4 |[Bifor6and9
M1 for their (6 x 5)
M1 for their (6x5) — their 9

implied by 6:30
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Mifor y=~ oe
=

B for k=80

implied by 5 = ‘i oe
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(@

180+ (1+2+3)x3[=90]

2 [M1for180+(1+2+3)
1f 0 scored, SC1 for angles 30, 60, 90

Condone 6for 1+2+3

(b)

75

4| BT for sin 30° or cos 60° = % soi
M2 for 15 sin 30 oe
or M1 for x/15 = sin 30 oe
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Al

Tor start of process,

cg isolate terms in ¢, cg 4 = 3d.
s

or divideal terms by d, g -+

for3:4

forstartof process:
1o take sl trms to one side e 65— Tay — 2098
or divideall terms by 3, g S5 =79, 200"

Yoy o

o substitute a value of x (> 0) or a value of . v > 0) o the equation,
egx=5,150 =35 + 20

for second step in process,

cg (2r-5)3x+49) (=0) or 6 ~Tp=20(=0) (where pfil

or 20,2+ 35y~ 150 (= 0)

52

Accept any equivalent ratio or ¢ = 3,d = 4

or cquivalent ratios.cg. 1 :3
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80

M3 for 250 + (8k +10k + 7k) * 8k oe

or M2 for 250 + (8k +10k + 7k) 0e
‘or M1 for two ratios with a common number
of women implied by 8k (men) and 7k
(children) seen, k> 0
orfor8:10(:7) or [4:]5: 3.5 seen

M3 implied by 80 , 100, 70 with 80
not selected

eg. 0.8and0.7,4and 3.5
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i) Equivalents may be
@ o 1 of Bag A's counters [are red] Accept1:4= % Gy ants may percentages or
3 Eg. Bag A: 20% red, Bag B: 25%
‘The ratio of red to yellow in Bag Bis 1:3 Accept % 13 red:
T | Correct answer is any integer multiple of B for (Bag A) yellow = 4 x red s 32
and A total = B total 10 30

this.

Red | Yellow
BagA | 4 16
BagB | 5 15

B for (Bag B) yellow = 3 x red

1f 0 scored SC2 for correct figures but
transposed horizontally
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(b)

20 nfww

B1 for two ratios equivalent to 3:4

M1 for their 15:20 reduced
to(15-3:20

Alternative approach

B1 for two fractions equivalent to ;

15 15-3
M1 for their —— reduced to ———
" ihel 35 Ted 32

6:8, 9:12, 12:16, 15:20,...

their 15:20 any ratio but not 3:4

using equivalent fractions:

£ oS o215
91 21" 8% 3%

their 15 any fraction but not
35 7





image78.png
13

@

1.4355 or 1.436 or 1.44

2 [ M1 for 16.5 x 87 possibly soi by figs
14355, 1436 or 144,
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(b)

Yes (Trevor is correct) because
Eg 220 + 87° x 100°=334.[..] or
334 x 87° + 100° = 219.9... to 220

M2 for 220 + 87° x 100°
or 334 x 87° + 100°

OR

B1 for 87° or 658503 or 100° or
1000000 soi
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A~ Yes with appropriate reasoning 3
involving rounding and correct
simplification to 3 : 8 or 3 :11

or8: 11 or ratios reversed

OR

B.- Yes it is approximately correct oe
‘and simplification of 6400 : 16200 to
32:81

OR

C- Yes with a correctly evaluated
calculation using e.g. ratio 3 : 8 with
a comparison comment

OR

D - Yes and e.g. 16200 + 8 and
6400 + 3 correctly evaluated

M2 eg for showing 6000 : 16000 and
reducing to 3 : 8 or for appropriate

rounding at some stage in correctly
simplifying ratio leading to 3 : 8 isw

or reduces 6400 : 16200 to 32 : 81 isw
or reduces 6400 : 22600 to 32 : 113 isw

or for ratio calculation leading to one of the
following values seen

6075, 6163 to 6165, 16436 1016440,
17066 to 17067 or 22275

or 23463 to 23467 seen isw

or for 2025 and 2133 to 2134 seen isw
or 2025 and 2054 to 2055 seen isw

or 2133 to 2134 and 2054 to 2055 seen
isw

Or M1 for 6000 or 16000 or 20000
or 22000 or 23000 seen

or for appropriate rounding of one number
at some stage in simplifying ratio

orforintenion tofind  of 16200
orfor %mmﬁu%musmemm)
nr%muszﬁmm) isw

orfor 6400 + 3 and one of 16200+ 8 or
(6400 + 16200) + 11 seen isw

or 16200 + 8 and (6400 + 16200)+ 11
seen isw

For all marks accept method with
equivalent fractions or decimals [3sf or
better]

Allow equivalent methods working with
the totals e.g. 3: 11, condone 22600
rounded to 22000

For 3 or M2, allow clear ‘reverse’
methods working from e.q. 3 : 8 to 6000
and 16000

Accept clear working if not in ratio form
e.g.3.2and 8.1 shown not in ratio

The figures in the part marks column are

quidance on accuracy required for 3
marks or M2

SEE APPENDIX
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7 (@ 22:15 M1 for any equivalent ratio or for two
correct ratios with a common number of
children seen implied by 22k and 15k seen | 15k : 22k implies M1
(k> 1and an integer)
orfor -2 orfor11:75 \coept 36610 3.67: 25
372
®) 258 M2 implied by 222 [ +36] not spoiled

M2 for %xs-& % x 11 [+36] 08
or (2 x 11) + (3 x 5)) x 36 + 6 [+36] oe.

or —2—xx=360e
6+15+22

orMifor 2 x50r 2 x7 soi
2 2

or 28 x110r 3 x 14 501 oe
3 3

90 +132 [+ 36]

Implied by 90 or 126 or 132 or 168 seen
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4111 or exact equivalent 3
orexact equivalent 2acian | B2 for - nfww oe soi by 0.26(6..]to | Implied by eg > evaluated where n
byt 5 15
0.27 oranswer 11: 4 oranswer 415 | is their total number of students
R NB 0.26:0.73 scores 3 marks but
22 0.26:0.74 only scores B2
Wifor 35 N8 2 from 2 Zscores 0
or [
2n -
B for 27 evaluated where n s ther total
number of students
Alternative method:
[Spanish : Other : None]
B2 4 : 6 : 5 s
OrR

Spanish : Other [: None]
M2 - 3 [ 25 0 for just 2 : 3 without labelling
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25

B3 for one value correct

OR

M2 for 9 x 1 x 6% 0e
or9x102=4xx* oe

OR

M1 for 9 x 107 or y:iz soi

X

Do not follow through mis-reads.
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236-238 3 320x130 May be done in stages
1A01.3b M2 for 18x100
2A031c x
Accept 24 provided full method shown or
329

M1 for any two of 57 or

329 o320 130
18
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Pl

Al

for process to find the ratio of the number of pens of each colour sold,
eg2x7:5x3:6%4 (=14:15:24)

for process to find the proportion of green pens sold,
212 4

g e or
IS 1S

for a complete process to find the number of green pens sold,
212 4 1

& s proerreyd

cao

Docs not have to be scen as a ratio but all three
necded

P3 can be implied by the values 56, 60 and 96
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Any straight line through the origin
eg

18011
140236

B1 for a straight line.

(i)

18011
140236

B1 for a cubic with two tuming points

(b)

(@

‘At least one point plotted correctly

10230
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(i)

10230
10316
14032

B2 for at least 5 points correctly
plotted

OR

B1 for at least 3 points correctly
plotted

AND

B1 for curve drawn through their
points
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0 1a031¢
9
(b) Profit = £18.20 5 | M1 Multiply their weights by 5
24013 | M1 Find number of each required
280040 | s
| M1 caloulate total cost

*M1 dep subtract from £60
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240136
4n03.1d

M1 for (x +20): (y +20)=5:2
or(x=5): (y=5)=5:1

A for

M1 for solving their simultaneous
equations
A for x

0 or y =20

Do not accept wrong notation
for ratio in the final mark,
eg.for4/1,4, etc
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1
oe accept - of 2400
] B
oe
Midep
o
their 300+ 6 or 50
5 their 300 + 6 e
o
(2400 -3 x their 300) 6 Midep
o
15006
250 3
Alternative method 2
2400+ 6 or 400 M1 | oe
their 400 + (3 +5) or 50 Mtdep | oe 2400 + 48 scores M1M1
5 xtheir 50 e
§ Midep
or 400 - (3 x their 50)
250 M

Additional Guidance

Answer 400 with 1500 or 900 in working MIMIMOAD
Answer 400 with 250 in working MIMIMIAD
Condone incorrect representation of a division if recovered

eg 8 +2400 = 300 M1
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Mark Comments
W | oo
o6 inthe fom k=
i
ok g Midep
22(a)
o6 equation eg 64y = 172°
Al sc2
y=22 or x4
‘addiional Guidance
Alow theproperton sign nstead of  fo M1 only
o ‘Answer ark Comments
22(b) | +2 B1
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40 (women) and 44 (men) oe

and No B1 40 (women) and 44 (men)

or or 40:44

40:44 and No or 84

or B2 or 8 (women leave) and 2 (men arrive)
84 and No

or

8 (women leave) and 2 (men arrive)
and No

Additional Guidance

NB 84 from incorrect working eg 41 +43 =84 BO

For B1 the values may be seen among others
egl 20:22 30:33 40:44 50:55

eg2 21,42,63,84, 105,

eg3 10, 20,30, 40,50, ... and 11,22, 33, 44, 55, Bl

egd g (implies 84)

For B2 the value(s) must be chosen by eg circling or a list stopping at
that point and No must be indicated
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Alternative mothod 1

330+ (7+4) or 30 M1 | oe
7% their 30 or 210 oe
and Midep
4 their 30 or 120
a5 m
Altornative method 2
330+ (7+4) or 30 Mt | oe
(7 —4) x their 30 or 90 Midep | oe
a5 m
Altornative method 3
330+ (7+4) or 30 M1 | oe
7% their 30 or 210 oe
or 4xtheir 30 or 120

Midep
and
3302 or 165
a5 m
Altornative method 4
330+ (7+4) or 30 Mt | oe
their 30 % 15 Midep | oe
a5 m

‘Additional Guidance





